
1.800.338.7337 / www.soundoffsignal.com

NOTICE: 
Installers and users must comply with all applicable federal, state and local laws regarding use and installation of warning devices.

Improper use or installation may void warranty coverage.
To review our Limited Warranty Statement & Return Policy for this or any SoundOff Signal product, visit our website at www.soundoffsignal.com/tech-services/returns/.

If you have questions regarding this product, contact Technical Services, Monday - Friday, 8 a.m. to 5 p.m. or after hours 5 p.m. to 8 p.m. ET at 1.800.338.7337 (press #4).
  Questions or comments that do not require immediate attention may be emailed to techservices@soundoffsignal.com.

SUPERIOR CUSTOMER RELATIONSHIPS. SMARTLY DESIGNED LIGHTING & ELECTRONIC SOLUTIONS.

! WARNING
Care must be taken when drilling through the roof of the 
vehicle not to drill into any existing wiring and not to drill 
through the headliner or support members of the vehicle. 
Check both sides of the mounting service prior to drilling. 

De-burr any holes and remove any metal shards or remnants. 
Install grommets into all wire passage holes.

PNFLBK11   0317

1. Assemble bumpers to bracket by inserting into the slot 
and rotating to lock into place (Fig 1.)
2. Attach the foot to the lightbar using the three #10 
screws. Do not tighten at this point, to allow for adjustment 
on the car.
3. Position the lightbar on the vehicle, space the bracket 
and bumpers to the furthermost edge of the vehicle roof 
(Fig 3.) Tighten the three screws to 35 – 40 in/lbs.  Do not 
overtighten (Fig 2.)
4. Attach the hook bracket to the car using the provided 
hardware.
5. Insert the ¼-20 bolt into the bracket and tighten to 12 -14 
in/lbs.  Do not overtighten it may damage the roof.

Installation InstructionsPETLK09  - Extended Reach Low Profile Mount Foot 

PACKAGE CONTENTS

Quantity Description

1
EPL Extended Mounting Foot 

Bracket

2 Bumper for mounting bracket

3 #10 Self tapping screws

FIG 1

FIG 2

FIG 3

Package Contents
1 x EPL Extended Mounting Foot Bracket
2 x Bumper for mounting bracket
3 x #10 Self tapping screws

Assembly Instructions
1) Assemble bumpers to bracket by 
inserting into the slot and rotating to lock 
into place (Fig 1)
2) Attach the foot to the lightbar using 
the three #10 screws. Do not tighten at 
this point, to allow for adjustment on the 
car.
3) Position the lightbar on the vehicle, 
space the bracket and bumpers to the 
furthermost edge of the vehicle roof. (Fig 
3) Tighten the three screws to 35 - 40 
in/lbs.  Do not overtighten. (Fig 2)
4) Attach the hook bracket to the car 
using the provided hardware.
5) Insert the ¼-20 bolt into the bracket 
and tighten to 12 -14 in/lbs.  Do not 
overtighten it may damage the roof.

REVISION LOG

REV DESCRIPTION INITIALS ECN DATE
1 01/01/1900

A A

B B

C C

D D

E E

F F

G G

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

EPL_Unicor_Instructions

MATERIAL:

THIRD ANGLE
PROJECTION

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN 
THIS DRAWING IS THE SOLE 
PROPERTY OF SOUNDOFF SIGNAL.  
ANY REPRODUCTION IN PART OR 
AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF 
SOUNDOFF SIGNAL IS PROHIBITED.

®

REVISION:

DESCRIPTION:

SHEET 1 OF 1

DRAWING
SIZE:
DO NOT SCALE

TOLERANCES
EXCEPT AS NOTED

.X      ± 0.5
.XX    ± 0.25
.XXX  ± 0.15

ANGLES  ± .5°
PRIMARY DIMS:  MILLIMETERS
DUAL DIMS:  [INCH]B

DRAWING NO:

GD&T TO FOLLOW
ASME Y14.5M-2009

CAD DIMENSIONS ARE BASIC 
UNLESS OTHERWISE SPECIFIED

FIG 1

FIG 2

FIG 3

Package Contents
1 x EPL Extended Mounting Foot Bracket
2 x Bumper for mounting bracket
3 x #10 Self tapping screws

Assembly Instructions
1) Assemble bumpers to bracket by 
inserting into the slot and rotating to lock 
into place (Fig 1)
2) Attach the foot to the lightbar using 
the three #10 screws. Do not tighten at 
this point, to allow for adjustment on the 
car.
3) Position the lightbar on the vehicle, 
space the bracket and bumpers to the 
furthermost edge of the vehicle roof. (Fig 
3) Tighten the three screws to 35 - 40 
in/lbs.  Do not overtighten. (Fig 2)
4) Attach the hook bracket to the car 
using the provided hardware.
5) Insert the ¼-20 bolt into the bracket 
and tighten to 12 -14 in/lbs.  Do not 
overtighten it may damage the roof.

REVISION LOG

REV DESCRIPTION INITIALS ECN DATE
1 01/01/1900

A A

B B

C C

D D

E E

F F

G G

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

EPL_Unicor_Instructions

MATERIAL:

THIRD ANGLE
PROJECTION

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN 
THIS DRAWING IS THE SOLE 
PROPERTY OF SOUNDOFF SIGNAL.  
ANY REPRODUCTION IN PART OR 
AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF 
SOUNDOFF SIGNAL IS PROHIBITED.

®

REVISION:

DESCRIPTION:

SHEET 1 OF 1

DRAWING
SIZE:
DO NOT SCALE

TOLERANCES
EXCEPT AS NOTED

.X      ± 0.5
.XX    ± 0.25
.XXX  ± 0.15

ANGLES  ± .5°
PRIMARY DIMS:  MILLIMETERS
DUAL DIMS:  [INCH]B

DRAWING NO:

GD&T TO FOLLOW
ASME Y14.5M-2009

CAD DIMENSIONS ARE BASIC 
UNLESS OTHERWISE SPECIFIED

FIG 1

FIG 2

FIG 3

Package Contents
1 x EPL Extended Mounting Foot Bracket
2 x Bumper for mounting bracket
3 x #10 Self tapping screws

Assembly Instructions
1) Assemble bumpers to bracket by 
inserting into the slot and rotating to lock 
into place (Fig 1)
2) Attach the foot to the lightbar using 
the three #10 screws. Do not tighten at 
this point, to allow for adjustment on the 
car.
3) Position the lightbar on the vehicle, 
space the bracket and bumpers to the 
furthermost edge of the vehicle roof. (Fig 
3) Tighten the three screws to 35 - 40 
in/lbs.  Do not overtighten. (Fig 2)
4) Attach the hook bracket to the car 
using the provided hardware.
5) Insert the ¼-20 bolt into the bracket 
and tighten to 12 -14 in/lbs.  Do not 
overtighten it may damage the roof.

REVISION LOG

REV DESCRIPTION INITIALS ECN DATE
1 01/01/1900

A A

B B

C C

D D

E E

F F

G G

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

EPL_Unicor_Instructions

MATERIAL:

THIRD ANGLE
PROJECTION

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN 
THIS DRAWING IS THE SOLE 
PROPERTY OF SOUNDOFF SIGNAL.  
ANY REPRODUCTION IN PART OR 
AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF 
SOUNDOFF SIGNAL IS PROHIBITED.

®

REVISION:

DESCRIPTION:

SHEET 1 OF 1

DRAWING
SIZE:
DO NOT SCALE

TOLERANCES
EXCEPT AS NOTED

.X      ± 0.5
.XX    ± 0.25
.XXX  ± 0.15

ANGLES  ± .5°
PRIMARY DIMS:  MILLIMETERS
DUAL DIMS:  [INCH]B

DRAWING NO:

GD&T TO FOLLOW
ASME Y14.5M-2009

CAD DIMENSIONS ARE BASIC 
UNLESS OTHERWISE SPECIFIED

FIG. 1

FIG. 2

FIG. 3


